NPV
1) time line relative to accrual policy

2) rate relative to accrual policy

3) accrual policy

4) cash flows relative to accrual, and time zero and end of project
5) Time value of money factor equations

a. Normal annuity (all monthly cash flows are the same) 
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b. Factor of lump sum (1+r)t
6) PV of annuity due = pmt(
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7) PV of future amount = amount/(1+r)t
8) NPV = PV – time zero costs

9) Decide ( is the project required despite outcome of NPV (mandated regulations) how positive is positive, is there a distribution (CI, min, max), Five Stakeholder Lens to be sure all cash flows are accounted for
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